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£BPY 352 = FIOA 5= §1%8-H

= FIJ5 WSS 1.48 ks B8/10

e b S 2 |I+=R E e =ray ¥ 1.38 ke B8/29
3 ks

L4 FPAND gHEA 0.77 ks 3/12

J’=JERPY 2 =— FLIEA 0.65 ks 3/1

3 |JrIR=HR BMRETHA 0.59 kg | 10/26

4 FvHik—J MNBEFEA 3.47 ks 8/17
?2J5RPY 2 ks
3 ks

4 FEZI JITh 1.07 ks 2/13
YYYSN\FEFE| 2 ks
3 ks

=8 =— BHEA 1.23 ks 8/5
H=5BPY 2 ks
3 ks

4 =— FLIEA 1.10 ks 3/1

HJ\"EBPY 2 =— (D) =% T 0.94 ks 3/14
3 ks

4 FvH FvH 9.00 ks a/5

21 SEBPY 2 |E-—2X FREEBEBEA| B.90 ke /5
3 ks

4 JPiR=HA SIMEETA 1.43 ke 8/16

EE & 2 |35 =AY 1.28 ks 5/27

3 |FIS WINESA 1.26 ks 1/11

4 FvHik—J RSB EA 4.56 ks 1/4

9 J5RPY 2 =— AREA 4.35 kg | 12/20

3 |UBK BAEH"BEEA| 4.22 ke 217

4 FvHik—J BiisZS N 1.76 ks 713

—~EBPY 2 [JrR=HRA BMRETHA 0.72 kg | 10/26

3 |550JI— ShUE A 0.42 ks 8/1

4 E—X FRESBIBEAN| B.25 ke | 12/20

E5AEBPY 2 (5 KoMk BISFRIESA B5.22 ks B6/21

3 |B&e FEREA 4.15 ke 1/4

4 FIJ5 WSS B6.47 ks 1/4

JUERPY 2 |550J)— 5.20 kg | 10/25

3 |UBK INFO{ER T A 4.85 ks B6/14

L4 =— mHEEA 1.80 ks 7/10

KoK EBPY 2 (57— FEHETEA 1.36 ks B6/3

3 |FEZI ERLESN 1.34 ks 2/21

404 | =— 24-TWENTY FOUR- 1.850 ks 7123

YNOSA(EBFE| 2 =— FLIEA 1.20 ks 1/11

3 |PAND EHREZCA 1.05 kg | 11/26

£BPY S525 =] FIOA S £1%8-H

1 |[Bhe TiEESA 2.21 ks 8/9

rHLALYVERPS 2 |[Bhe Slll—Fk&wh 1.56 kg 715

3 |B&e FEREA 1.52 kg 7126

=1 (Fvdo FvH 1.11 ks | 12/26
>’ JEBPY 2 ke
3 ks

#1  |FPIR=HAR TIMEETA 0.38 ks 3/

4 7EBPY 2 [FrR=HRA TIMEETA 0.35 ks 3/
3 ks

A1 |#E FEEHA 9.00 ks 10/4

HYAEBPY 2 |k =Ty 8.80 ks 10/4

3 |MEI GIEBATHA 7.51 ke 10/4

=1 |# TR A 1.80 ks 6/28

JF&EBPY 2 |k BmMEA 1.46 kg B6/21

3 [E=—73R MEME 1A 1.40 kg B6/21

#1  [TER s=—<Ah | 17.40 ks 11/2

B OSERPY 2 |k TERATA 13.00 ks g/22

3 |KRM BHE/ZEh | 12.00 ks 9/21

“1  [UBK (SE Y 3.85 ks 7126

AXFEBPY 2 |k RS — A 3.50 ke 7124

3 |FIS WIESA 2.96 ks 712

= =— FEEvA 7.35 kg B/30

91 5BPY 2 |I+=R BRiEECHN 7.11 ke 8/3

3 |CCF =T I h=pay B.10 ks 6/8

= =— =Yy 2.10 ks 2/18

SF 57 EBPY 2 =— E Y N=ayY, 1.98 kg 3/

3 |FPAND HithgE— A 1.80 ks 2/13

=1 (FTJS iZlEE— A 1.47 kg B/27

J\55BPY 2 |FIJ5 WIS 1.00 ks B5/30

2 =— hanayY, 1.00 ks 8/5

=1 [AU— B6.07 ks | 12/23

D558 2 |k TR A 3.06 ks 2/21

3 |FIS WINESA 2.84 ks 6/26

=1 [Fe=R BRiEECHA 1.10 ke 8/3
NSEBPY 2 ke
3 ks

=1 [FTS WINECA 46.00 ks | 11/22

~2D5RPY 2 |k = ray Y] 36.80 ks 8/15

3 |FvHik—T rewman-nEaray | 11.66 ks 11/2

41 |BEE Slll—k&wh 0.75 ks 712

*JXJUSAPY 2 =— WSS 0.88 ks 2/11

3 |k TRRATA 0.84 ks 712




